1= Clear ["Global® %"1;

PolygonalLine [cnlist  _,options ___1:=
Module [{zpoints = Map[{Re[#], Im [#]} &, cnlist 1},
graphicsdata = {{Thickness [0.01 ], Line [zpoints 1}, {PointSize [0.04 1],
Map[Point, zpoints 13}}; Show [Graphics [graphicsdata, AspectRatio -1, ImageSize - 72 x3, options ]11];
In[3:= cnlistl = {31, -4,01};

PolygonalLine [cenlistl ]

Out[4]=
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In[s]:= cnlist2 ={31, -4,0, 31 };
PolygonalLine [cnlist2 ]

Out[6]=




In[7]:= cnlist3 ={1l+1, =14+, -1-1,1 -1,1 +1};
PolygonalLine [cnlist3, Axes - True ]
® 6 ]
05F
out[8]= A [
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inj9):= Contourlntegral [expr _, vbl _, contour _7] :=
Integrate  [expr, Prepend [contour, vbl 11;
NContourlntegral [expr _, vbl _, contour _] :=

Nintegrate  [expr, Evaluate [ Prepend [contour, vbl 111;

1= Contourlntegral [(Cos[z])2 Sin [z],z, {1+l -1+1, -1-1,1 -1,1 +1}]
2 3 3 2 3 3
out[11]= g (OOS[l+1'L] - Cosh[l+1] ) + 5 (—(I)S[l+j} +Cosh[1l+1] )

2= Simplify  [%]

ou12)= 0
inf13):= Contourintegral [Conjugate [z], z, cnlistl ]
oufiz= - —+12 1
2
in[24]:= NContourintegral [Conjugate [z], z, cnlistl ]

ouf14= -4.5+12. 1
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in[15):= Contourlntegral [Conjugate [z], z, cnlist2 ]

ou15]= 12 i

ine):= Triangle [{zl_, z2 _, z3 _}] : = Module [{zpoints = {{Re[z1],Im [z1]},
{Re[z2],Im [z2]}, {Re[z3],Im [z3]1}, {Re[zl], Im [z1]1}}},
{{Hue[RandomReal []], Polygon [zpoints 1}, {Thickness [0.008" 1], Line [zpoints 1}}1;

7= 21 =-1/721;z2 =2;23 =5/4+5/41;
aa = {z1, z2,z3 };
Show[Graphics [Triangle [aa]l]l]

out[19]=

in2o0:= Subdivide [{z1_,z2 _,z3 _}]:={{z1, (z1 +22) /2, (z1 +z3) /2},
{(z1 +22) /2, (z2 +23) /2, (z1 +23) /2},
{(z1 +22) /2,22, (22 +23) /2}, {(z2 +23) /2,23, (z1 +23)/2}};
Subdivide [M_?MatrixQ ] : = Flatten [Map[Subdivide, M 1,1 1;
showDivision  [listdata _1] : = Show[Graphics [Map[Triangle, listdata 111;
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in23):= bb = Subdivide [aa];
showDivision  [bb]

out[24]=
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in[251:= cc = Subdivide [bb1];
showDivision  [cc ]

out[26]=
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in[27]:= dd = Subdivide [cc];
showDivision  [dd ]

out[28]=
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in[29]:= ee = Subdivide [dd];
showDivision [ee]

out[30]=




